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e 20000 pions
* fixpt generator
e pt=[0.06, 0.07, 0.08, 0.09, 0.1, 0.2, 0.3, 0.4, 0.6, 0.7] GeV
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pt after kalman
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ptkal {ptkal<0.8&&ptkal>0.6} ptkal {ptkal<0.6&&ptkal>0.3} ptkal {ptkal<0.2&&ptkal>0.09}
htemp _ htemp htemp
4500 Entries 19366 E Entries 19555 C Entries 22869
F Mean 0.7012 9000 Mean  0.4015 5000(— Mean  0.09856
4000~ Std Dev_ 0.01018 8000F- Std Dev_ 0.01391 B Std Dev_0.008225
2000 ? 7000 ; 4000{—
3000 pt=0.7 GeV conok pt=0.4 GeV - pt=0.1 GeV
C 000— B
2500 ; 5000 ; 3000 ;
2000 2000F- -
c E 2000{—
15001~ 3000 C
1000 - 2000 ;— 1000 ;
500— 1000 J -
0 :\ I Il 1 1 Il J 1 1 Il ‘ Il J—\ 1 1 Il I Il o :\ Il I 1 1 1 1 14 - ‘ LK L l | I S — l 1 1 1 1 l 1 1 Il 1 I Il B Il 1 l Il 1 1 J 1 1 L I Il
0.6 0.65 0.7 0.75 08 0.3 0.35 0.4 0.45 05 0.55 0.6 Qo8 0.16 0.18 0.2
ptkal ptkal ptkal
ptkal {ptkal<0.158&&ptkal>0.06} ptkal {ptkal<0.18&&ptkal>0.04} ptkal {ptkal<0.1&&ptkal>0.02}
htemp htemp htemp
F Entries 24455 u Entries 22321 600~ Entries 16339
4000 Mean  0.08568 1400 Mean  0.06178 - Mean  0.04814
E Std Dev  0.00836 - Std Dev  0.007405 - Std Dev  0.009938
3500 1200(— 00
3000 pt=0.09 GeV 1000l pt=0.07 GeV a00F pt=0.06 GeV
2500F- - L
= 800{— -
= N 300—
2000 C C
= 600{— -
1500 } B 200 -
- 400[— -
1000 C C
= - 100—
500 - 200[— C
0:\ J 1 L 1 I 1 1 07\ Il Il Il Il Il ‘ Il Il Il Il ‘ Il Il Il Il ‘ Il 1 ——LL.J Il Il 07\|\1 ‘ L—i~i..i_)—wl_|\\
0.06 0.08 0.1 0.12 0.14 0.04 0.05 0.06 0.07 0.08 0.09 0.1 002 003 004 005 006 007 008 009 0.
ptkal ptkal ptkal
| RecMdcKalTracks = (xitTrk)->mdcKalTrack();
| ::setPidType ( ::pion);
%7 if (1 (xitTrk)—->isMdcKalTrackValid()) continue;
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some distributions after kalman
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Pull distrEutions
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